A monitor rendszerben 2011. évben jelentett Escherichia coli izolatumok antibiotikum érzékenysége
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Erzékeny (%) 49,4 79,51 90,1 99,9 99,71 999 91,4 91,5 924 91,3 92,1 80,6 800 939 884 934 70,2 76,4
Mérsekelt (%) 0,4 4,7 2,2 0,0 0,0 0,0 0,6 0,1 0,1 0,5 0,4 0,4 0,4 0,4 11 2,6 0,5 0,3
Rezisztens (%) 50,2 15,8 7,6 0,1 0,3 0,1 8,0 8,4 7,5 8,2 7,5 19,1 19,6 5,7 10,6 4,1 29,41 23,2
Torzs (beteg) 51032| 55867 22141 24355| 12004| 14099| 54195| 20566| 40334| 31560| 24253| 54206| 27843 51205| 24765| 26677 21607| 54234




